
次は，中学生の佳奈が英語の授業でスピーチをするために書いた原稿の一部である。英文中の     には， 

下のア～エの 4 つの英文が入る。意味がとおる文章になるようにア～エの英文を並べかえて，記号で答えなさい。 

 

（注）Honey Rosa = ハニーローザ（スモモの品種の一つ）chance = 機会 in the past = 過去には  

thanks to ～ = ～のおかげで grown = grow（～を栽培する）の過去分詞 

 

佳奈が書いた原稿の一部 

  We have many popular fruits here in Kumamoto.   

One example is Honey Rosa.                  If you have a chance, please try it. 

 

ア As a result, such a sweet and popular fruit is eaten in many places in Japan. 

イ It looks like a peach, but, in the past, it was not as sweet as a peach. 

ウ So, some people in Kumamoto have been working hard to make it sweeter for about twenty years. 

エ Thanks to them, the fruit has become sweeter and popular, and the amount of Honey Rosa grown in Kumamoto has 

become No. 1 in Japan. 

 



次の英文中の     には，下のア～エの 4 つの英文が入る。 

意味がとおる文章になるようにア～エの英文を並べかえて，記号で答えなさい。 

 

There are some good points of school uniforms.  If we have school uniforms,  

we don’t need much money for clothes we usually wear at school.                          Then we talked  

more about other good points and bad points of school uniforms. 

 

ア If we have school uniforms, we can’t decide which clothes we wear according to the weather or our feelings. 

イ On the other hand, we found that there were some bad points about school uniforms. 

ウ  Also, we don’t have to worry about the clothes we will wear every morning. These are some of the good points we found. 

エ  We can’t enjoy wearing different clothes every day, either. 


